*7 ssm A loudspeaker produces a musical sound by means of the
oscillation of a diaphragm whose amplitude is limited to 1.00 um. (a)
At what frequency is the magnitude a of the diaphragm’s acceleration
equal to g? (b) For greater frequencies, is a greater than or less than g?

*8 What is the phase constant for

: : A x (cm)
the harmonic oscillator with the po- o1
sition function x(¢) given in Fig. 15- 1
30 if the position function has the
form x = x,, cos(wt + ¢)? The ver-
tical axis scale is set by x;, = 6.0 cm.

*9 The position function x =
(6.0 m) cos[(37 rad/s)t + #/3 rad]
gives the simple harmonic motion ‘
of a body. At = 2.0 s, what are the Figure 15-30 Problem 8.
(a) displacement, (b) velocity, (c)

acceleration, and (d) phase of the motion? Also, what are the (e)
frequency and (f) period of the motion?
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